THE RANKIN-SELBERG METHOD ON CONGRUENCE SUBGROUPS

SHAMITA DUTTA GUPTA

ABSTRACT. A modified Rankin-Selberg integral is defined for the automorphic functions not of rapid decay on the congruence subgroup of SL(2, Z). Analytic continuation and functional equations are obtained for this Rankin-Selberg integral.

1. Introduction

The Rankin-Selberg method was discovered independently by Rankin and Selberg. Rankin's paper [5] and Selberg's paper [6] both address the following situation. Briefly speaking, let $f(z) = \sum A(n)q^n$ and $g(z) = \sum B(n)q^n$ where $q = e^{2\pi i z}$ are modular forms; then, as the result of their "trick", which is now known as the Rankin-Selberg method, $\sum A(n)B(n)n^{-s}$ has an analytic continuation and a functional equation. Rankin and Selberg used these two basic facts to give bounds to the Fourier coefficients of the modular forms.

The idea of the Rankin-Selberg method is to seek the representation of an L-function as an integral of one or more automorphic forms against an Eisenstein series. The Eisenstein series has a functional equation and so if the L-function can be represented as such an integral, it inherits this functional equation.

Since then, the method have been greatly generalized, and many applications have been found for those generalization, such as the non-vanishing theorems, Doi-Naganuma lifting and the Shimura correspondence.

In 1981, Zagier [7] first extended the method and gave a clear formulation to the modular forms of the full modular group which are not of rapid decay.

Zagier's proof involves the application of the "folding-unfolding" trick to a truncated domain. His idea is particularly useful when applied to the metaplectic Eisenstein series and the theta series. These series are automorphic forms which are not of rapid decay. Their Fourier expansion often involves Dirichlet series. Hence we can obtain number theoretic information. For example, see [1], [3], [4].

In this work, we give a generalized theorem, an extension of Zagier's theorem to the congruence subgroup of SL(2, Z). Our method of proof will not use the truncated domains and hence is more straightforward and hopefully this will help us enhance the understanding of the Rankin-Selberg method.

Received May 14, 1998.

¹⁹⁹¹ Mathematics Subject Classification. Primary 11F66; Secondary 11F12, 11F99.

^{© 2000} by the Board of Trustees of the University of Illinois Manufactured in the United States of America

2. The Main Theorem

Let SL(2, R) operate on \mathcal{H} , the upper half plane, in the usual way. Let Γ be a congruence subgroup of SL(2, Z) and

$$\Gamma_{\infty} = \{g \in \Gamma \mid g(\infty) = \infty\} = \left\{ \begin{pmatrix} 1 & b \\ 0 & 1 \end{pmatrix} \mid b \in Z \right\}.$$

In this case, Γ is said to be reduced at infinity.

Let $\kappa_1 = \infty, \kappa_2, \dots, \kappa_h$ be the non equivalent cusps of Γ . Let $\Gamma_i = \{\sigma \in \Gamma \mid \sigma \kappa_i = \kappa_i\}$. Then there is an $\alpha_i \in SL(2, Q)$ for each cusp κ_i , such that $\alpha_i \infty = \kappa_i$ and $\alpha_i^{-1}\Gamma_i\alpha_i = \Gamma_\infty$. In particular we choose $\alpha_1 = I_{2\times 2}$.

Here are some basic facts of Eisenstein series. For each cusp κ_i , we may define an Eisenstein series as

$$E_i(z,s) = \sum_{\delta \in \Gamma_i \setminus \Gamma} y^s(\alpha_i^{-1}\delta z),$$

where y(x + iy) = y. Set

$$\vec{E}(z,s) = \begin{bmatrix} E_1(z,s) \\ E_2(z,s) \\ \vdots \\ E_h(z,s) \end{bmatrix}_{h \times 1}$$

Then there is a matrix of functions, often called the scattering matrix, denoted by $\Phi(s)$, such that $\vec{E}(z, s)$ has the functional equation

(1)
$$\vec{E}(z,s) = \Phi(s)\vec{E}(z,1-s),$$
$$\Phi(s)\Phi(1-s) = I_{h\times h}$$

where

$$\Phi(s) = (\phi_{ij})_{h \times h},$$

$$\phi_{ij} = \pi^{1/2} \frac{\Gamma(s - 1/2)}{\Gamma(s)} \cdot \sum_{c > 0} \frac{1}{|c|^{2s}} \sum_{\substack{d (\text{mod}c) \\ (c, d) \in \alpha_i^{-1} \cap \alpha_j}} 1$$

Note that $E_1(z, s)$ is the Eisenstein series at the cusp ∞ . We will write this as $E_{\infty}(z, s)$. For this reason, we will use the subindex ∞ instead of 1 for corresponding quantities, such as the constant term of its Fourier expansion. For more details concerning $\vec{E}(z, s)$ and $\Phi(s)$, see [2].

Let F(z) be a continuous function invariant under the action of Γ . For each cusp κ of Γ , there is an α such that $\alpha \infty = \kappa$, $\alpha^{-1}\Gamma_{\kappa}\alpha = \Gamma_{\infty}$. For this α , define a new function

$$f(z)=F(\alpha z).$$

Then it is easily checked that f(z) has period 1. Thus it has a Fourier expansion of the form

$$f(z) = \sum_{m \in \mathbb{Z}} a_m^{(\kappa)}(y) e(mx).$$

We will define the above expansion of f(z) to be the Fourier expansion of F(z) at the cusp κ .

Further suppose that

(2)
$$f(z) = \psi_{\kappa}(y) + O(y^{-N}) \quad \forall N \text{ as Im } z \to \infty,$$

where $\psi_{\kappa}(y)$ is a function of the form

(3)
$$\psi_{\kappa}(y) = \sum_{j=1}^{l} \frac{c_{ij}}{n_{ij}} y^{\alpha_{ij}} \log^{n_{ij}} y,$$

where c_{ij} , $\alpha_{ij} \in C$, $n_{ij} \in N \ge 0$, $\kappa = \kappa_i$.

We will define the Rankin-Selberg transform of F at the cusp κ as

(4)
$$R_{\kappa}(F,s) = \int_{0}^{\infty} \left(a_{0}^{\kappa}(y) - \psi_{\kappa}(y)\right) y^{s-2} dy$$
$$= \int_{0}^{\infty} \int_{0}^{1} \left(F(\alpha z) - \psi_{\kappa}(y)\right) y^{s} d\mu,$$

where $d\mu = \frac{dx \, dy}{y^2}$. Thus $R_{\kappa}(F, s)$ converges absolutely for Re s sufficiently large. We will state our main theorem now.

THEOREM. If $R_{\kappa}(F, s)$ is defined as above, then $R_{\kappa}(F, s)$ has a meromorphic continuation to all s, the only possible poles being at $s = 0, 1, \alpha_{ij}, 1 - \alpha_{ij}$ and $\rho/2$, where ρ 's are the nontrivial zeros of the Riemann zeta function.

Further we have the following functional equation:

(5)
$$\vec{R}(F,s) = \begin{pmatrix} R_1(F,s) \\ R_2(F,s) \\ \vdots \\ R_h(F,s) \end{pmatrix} = \Phi(s) \begin{pmatrix} R_1(F,1-s) \\ R_2(F,1-s) \\ \vdots \\ R_h(F,1-s) \end{pmatrix} = \Phi(s)\vec{R}(F,1-s).$$

Proof. Let $\mathcal{D} = \{z = x + iy \in \mathcal{H} \mid |x| \le 1/2, |z| \ge 1\}$ be the fundamental domain of the upper half plane under the action of SL(2, Z).

For our convenience later, let

$$\tilde{\mathcal{D}} = \Gamma_{\infty} \setminus \mathcal{H} - \mathcal{D} = \bigcup_{\substack{\gamma \in \Gamma_{\infty} \setminus SL(2,\mathbb{Z}) \\ \gamma \neq I}} \gamma \mathcal{D} = \{ z = x + iy \in \mathcal{H} \mid |x| \le 1/2, |z| < 1 \}.$$

Let \mathcal{D}_{Γ} be the fundamental domain of the upper half plane \mathcal{H} under the action of Γ . Let $\alpha_i \in SL(2, Q)$ be defined as before for each cusp κ_i of Γ , that is $\alpha_i(\infty) = \kappa_i$, and $\alpha_i^{-1}\Gamma_i\alpha_i = \Gamma_\infty$ where $\Gamma_i = \{\sigma \in \Gamma \mid \sigma\kappa_i = \kappa_i\}$.

It is easy to show that $\mathcal{D}_{\Gamma} = \bigcup_{i=1}^{h} \alpha_i \mathcal{D}$ where $\alpha_i \mathcal{D}$ is the image of \mathcal{D} under the action of α_i .

Let us consider first the Rankin-Selberg transform of F at the cusp ∞ . We have

(6)
$$R_{\infty}(F,s) = \int_{0}^{\infty} \int_{0}^{1} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}}$$
$$= \int \int_{\Gamma_{\infty} \setminus \mathcal{H}} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}}$$
$$= \int \int_{\bigcup_{\gamma \in \Gamma_{\infty} \setminus \Gamma } \gamma \mathcal{D}_{\Gamma}} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}}$$
$$= \int \int_{\bigcup_{i=1}^{h} \bigcup_{\gamma \in \Gamma_{\infty} \setminus \Gamma } \gamma (\alpha_{i} \mathcal{D})} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}}$$
$$= \sum_{i=1}^{h} \left(\int \int_{\bigcup_{\substack{\gamma \in \Gamma_{\infty} \setminus \Gamma \\ \alpha_{i} \neq l \text{ or } \gamma \neq l}} \gamma (\alpha_{i} \mathcal{D})} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}} \right)$$
$$+ \int \int_{\mathcal{D}} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}}$$
$$= I_{2} + I_{1}$$

where $I_1 = \int \int_{\mathcal{D}} [F(z) - \psi_{\infty}(y)] y^s \frac{dx dy}{y^2}$ converges for any s, since $F(z) - \psi_{\infty}(y)$ is of rapid decay when $y \to \infty$.

For I_2 , we have

$$(7) \quad I_{2} = \sum_{i=1}^{h} \left(\int \int_{\bigcup_{\substack{\gamma \in \Gamma_{\infty} \setminus \Gamma \\ \alpha_{i} \neq l \text{ or } \gamma \neq l}} \gamma(\alpha_{i} \mathcal{D})} [F(z) - \psi_{\infty}(y)] y^{s} \frac{dx \, dy}{y^{2}} \right)$$

$$= \sum_{i=1}^{h} \left(\int \int_{\bigcup_{\substack{\gamma \in \Gamma_{\infty} \setminus \Gamma \\ \alpha_{i} \neq l \text{ or } \gamma \neq l}} \gamma(\alpha_{i} \mathcal{D})} F(z) y^{s} \frac{dx \, dy}{y^{2}} \right)$$

$$- \sum_{i=1}^{h} \left(\int \int_{\bigcup_{\substack{\gamma \in \Gamma_{\infty} \setminus \Gamma \\ \alpha_{i} \neq l \text{ or } \gamma \neq l}} \gamma(\alpha_{i} \mathcal{D})} \psi_{\infty}(y) y^{s} \frac{dx \, dy}{y^{2}} \right)$$

$$= \sum_{i=1}^{h} \int \int_{\mathcal{D}} F(\alpha_{i} z) \left(E_{\infty}(\alpha_{i} z, s) - \delta_{i\infty} y^{s} \right) d\mu - \int \int_{\tilde{\mathcal{D}}} \psi_{\infty}(y) y^{s} \frac{dx \, dy}{y^{2}}.$$

Let $e_{i\infty}$ be the constant term of the expansion of $E_{\infty}(z, s)$ at the cusp κ_i , which is

defined as

$$e_{i\infty} = \int_0^1 E_\infty(\alpha_i z, s) dx.$$

It is easily verified that for $s \neq 0, 1/2, 1$,

(8)
$$e_{i\infty} = \delta_{i\infty} y^s + \phi_{i\infty} y^{1-s}$$

where $\phi_{i\infty}$ are entries of the scattering matrix $\Phi(s)$ defined as before.

For for each i, $E_{\infty}(\alpha_i z, s) - e_{i\infty}$ is of rapid decay, as $y \to +\infty$. And

$$E_{\infty}(\alpha_i z, s) - \delta_{i\infty} y^s$$

is of slow decay for Re s sufficiently large.

.

Also $\psi_{\infty}(y)$ is of the form as in (1.3), hence both integrals in I_2 converges for Re s sufficiently large.

Now let us rearrange the first term of (7), so that it has a functional equation. We have

(9)
$$I_{2} = \sum_{i=1}^{n} \int \int_{\mathcal{D}} F(\alpha_{i}z) (E_{\infty}(\alpha_{i}z,s) - e_{i\infty}) d\mu + \sum_{i=1}^{h} \int \int_{\mathcal{D}} F(\alpha_{i}z) \phi_{i\infty} y^{1-s} d\mu - \int \int_{\tilde{\mathcal{D}}} \psi_{\infty}(y) y^{s} \frac{dx \, dy}{y^{2}}$$

Let $I_{\infty,F}(s)$ be the first term in the above sum for I_2 , which converges absolutely for all s. Now let us write the second term of the above sum as

(10)
$$\sum_{i=1}^{h} \int \int_{\mathcal{D}} (F(\alpha_{i}z) - \psi_{i}(y))\phi_{i\infty}y^{1-s}d\mu + \sum_{i=1}^{h} \int \int_{\mathcal{D}} \psi_{i}(y)\phi_{i\infty}y^{1-s}d\mu$$
$$= \sum_{i=1}^{h} \int \int_{\mathcal{D}} (F(\alpha_{i}z) - \psi_{i}(y))e_{i\infty}d\mu$$
$$- \int \int_{\mathcal{D}} (F(z) - \psi_{\infty}(y))y^{s}d\mu$$
$$+ \sum_{i=1}^{h} \int \int_{\mathcal{D}} \psi_{i}(y)\phi_{i\infty}y^{1-s}d\mu.$$

Substituting (10) into (9), we have

(11)
$$I_2 = I_{\infty,F}(s) + I_{\infty,F,\psi}(s) - \int \int_{\tilde{\mathcal{D}}} \psi_{\infty}(y) y^s \frac{dx \, dy}{y^2} + \sum_{i=1}^h \int \int_{\mathcal{D}} \psi_i(y) \phi_{i\infty} y^{1-s} d\mu - \int \int_{\mathcal{D}} (F(z) - \psi_{\infty}(y)) y^s d\mu.$$

where $I_{\infty,F,\psi}(s)$ is the first term on the RHS of (10), which converges absolutely for all s.

Now, substituting (11) into (6), and cancelling out I_1 , we have

(12)
$$R_{\infty}(F,s) = I_{\infty,F}(s) + I_{\infty,F,\psi}(s) + I_{\infty,\psi}(s)$$

where

$$I_{\infty,\psi}(s) = \sum_{i=1}^{h} \int \int_{\mathcal{D}} \psi_i(y) \phi_{i\infty} y^{1-s} d\mu - \int \int_{\tilde{\mathcal{D}}} \psi_{\infty}(y) y^s \frac{dx \, dy}{y^2}$$

which converges absolutely for Re s sufficiently large.

Now let us consider the situation at a general cusp κ . By definition, the Fourier expansion of F(z) at κ is the same as the Fourier expansion of $f(z) = F(\alpha z)$ at ∞ where $\alpha \infty = \kappa$, $\alpha^{-1}\Gamma_{\kappa}\alpha = \Gamma_{\infty}$. Let the constant term in the expansion be denoted by $a_0^{\kappa}(y)$. We have

$$R_{\infty}(f,s) = R_{\kappa}(F,s) = \int_{0}^{\infty} \int_{0}^{1} \left(F(\alpha_{\kappa}z) - \psi_{\kappa}(y)\right) y^{s} d\mu$$
$$= \int_{0}^{\infty} \left(a_{0}^{\kappa}(y) - \psi_{\kappa}(y)\right) y^{s} \frac{dy}{y^{2}}.$$

The function $f(z) = F(\alpha z)$ is invariant under the action of $\alpha^{-1}\Gamma\alpha = \tilde{\Gamma}$.

Let $\mathcal{D}_{\tilde{\Gamma}} = \mathcal{D}_{\alpha^{-1}\Gamma\alpha} = \alpha^{-1}\mathcal{D}_{\Gamma}$. Thus the cusps of $\tilde{\Gamma}$ are $\{\tilde{\kappa}_i\} = \{\alpha^{-1}\kappa_i\}$. Thus $\tilde{\alpha}_i \infty = \tilde{\kappa}_i$, where $\tilde{\alpha}_i = \alpha^{-1}\alpha_i$. Consider

(13)
$$\tilde{E_{\infty}}(\tilde{\alpha_{i}}z,s) = \sum_{\gamma \in \Gamma_{\infty} \setminus \alpha^{-1}\Gamma\alpha} \operatorname{Im} (\gamma \tilde{\alpha_{i}}z)^{s}$$
$$= \sum_{\gamma \in \Gamma_{\infty} \setminus \alpha^{-1}\Gamma\alpha} \operatorname{Im} (\alpha^{-1}\alpha\gamma\alpha^{-1}\alpha_{i}z)^{s}$$
$$= \sum_{\gamma \in \Gamma_{\kappa} \setminus \Gamma} \operatorname{Im} (\alpha^{-1}\gamma\alpha_{i}z)^{s}$$
$$= E_{\kappa}(\alpha_{i}z,s).$$

And $f(\tilde{\alpha}_i z) = F(\alpha \tilde{\alpha}_i z) = F(\alpha \alpha^{-1} \alpha_i z) = F(\alpha_i z)$. Hence

$$\psi_i(y)$$
 = polynomial part of the constant term of $f(\tilde{\alpha}_i z)$
= polynomial part of the constant term of $F(\alpha_i z)$
= $\psi_i(y)$.

100

Also

$$\tilde{e}_{i\infty}$$
 = constant term of $\tilde{E_{\infty}}(\tilde{\alpha_i}z)$
= constant term of $E_{\infty}(\alpha_i z)$
= $e_{i\kappa}$.

Thus for any cusp κ , by (12) we have

(14)
$$R_{\kappa}(F,s) = I_{\kappa,F}(s) + I_{\kappa,F,\psi}(s) + I_{\kappa,\psi}(s),$$

where

$$R_{\kappa}(F,s) = \int_{0}^{\infty} \int_{0}^{1} [F(\alpha z) - \psi_{\kappa}(y)] y^{s} \frac{dx \, dy}{y^{2}},$$

$$I_{\kappa,F}(s) = \sum_{i=1}^{h} \int \int_{\mathcal{D}} F(\alpha_{i}z) (E_{\kappa}(\alpha_{i}z,s) - e_{i\kappa}) d\mu,$$

$$I_{\kappa,F,\psi}(s) = \sum_{i=1}^{h} \int \int_{\mathcal{D}} F(\alpha_{i}z) - \psi_{i}(y))e_{i\kappa} d\mu,$$

$$I_{\kappa,\psi}(s) = \sum_{i=1}^{h} \int \int_{\mathcal{D}} \psi_{i}(y) \phi_{i\kappa} y^{1-s} d\mu - \int \int_{\tilde{\mathcal{D}}} \psi_{\kappa}(y) y^{s} \frac{dx \, dy}{y^{2}}.$$

Now to convert to a matrix form, let

$$\vec{R}(F,s) = (R_{\kappa}(F,s))_{h\times 1},$$

$$\vec{I}_{F}(s) = (I_{\kappa,F}(s))_{h\times 1},$$

$$\vec{I}_{F,\psi}(s) = (I_{\kappa,\psi}(s))_{h\times 1},$$

$$\vec{I}_{\psi}(s) = (I_{\kappa,\psi}(s))_{h\times 1},$$

$$\vec{e}_{i} = (e_{i\kappa})_{h\times 1}.$$

Then the equation (14) becomes

(15)
$$\vec{R}(F,s) = \vec{I}_F(s) + \vec{I}_{F,\psi}(s) + \vec{I}_{\psi}(s).$$

To prove the functional equation of $\vec{R}(F, s)$, it is sufficient to do so for each term on the righthand side of (15).

Note that

$$\vec{e}_i(y,s) = (e_{i\kappa})_{h \times 1} = (y^s + \Phi(s)y^{1-s}) \begin{pmatrix} 0 \\ \vdots \\ 1 \\ \vdots \\ 0 \end{pmatrix}.$$

Thus

$$\Phi(s)\vec{e}_{i}(y,1-s) = \Phi(s)(y^{1-s} + \Phi(1-s)y^{s}) \begin{pmatrix} 0\\ \vdots\\ 1\\ \vdots\\ 0 \end{pmatrix}$$
$$= (y^{s} + \Phi(s)y^{1-s}) \begin{pmatrix} 0\\ \vdots\\ 1\\ \vdots\\ 0 \end{pmatrix}$$
$$= \vec{e}_{i}(y,s).$$

Thus, each term in the sum for $\vec{I}_{F,\psi}(s)$ has the functional equation. Since, $\Phi(s)\vec{E}(z, 1-s) = \vec{E}(z, s)$, the function $\vec{I}_F(s)$ has the same functional equation too. Both $\vec{I}_{F\psi}(s)$ and $\vec{F}(s)$ converges absolutely for all s. To complete the proof, write

$$\vec{I}_{\psi}(s) = \sum_{i=1}^{h} \vec{I}_{\psi_i}(s)$$

where

$$\vec{I}_{\psi_i}(s) = \int \int_{\mathcal{D}} \psi_i(y) \begin{pmatrix} \vdots \\ \phi_{i\kappa} \\ \vdots \end{pmatrix}_{h \times 1} y^{1-s} d\mu - \int \int_{\tilde{\mathcal{D}}} \psi_i(y) \begin{pmatrix} \vdots \\ \delta_{i\kappa} \\ \vdots \end{pmatrix}_{h \times 1} y^s d\mu$$

which converges absolutely for Re s sufficiently large.

Now consider

$$-\int \int_{\tilde{\mathcal{D}}} \psi_i(\mathbf{y}) \begin{pmatrix} \vdots \\ \phi_{i\kappa} \\ \vdots \end{pmatrix}_{h \times 1} y^{1-s} d\mu + \int \int_{\tilde{\mathcal{D}}} \psi_i(\mathbf{y}) \begin{pmatrix} \vdots \\ \delta_{i\kappa} \\ \vdots \end{pmatrix}_{h \times 1} y^s d\mu$$

102

which converges absolutely for Re s sufficiently small. It is easy to see its meromorphic continuation equals the meromorphic continuation of $\vec{I}_{\psi_i}(s)$. Further, as

$$\Phi(s)\begin{pmatrix} \vdots\\ \phi_{i\kappa}\\ \vdots\\ \end{pmatrix}_{h\times 1}(1-s) = \Phi(s)\Phi(1-s)\begin{pmatrix} 0\\ \vdots\\ 1\\ \vdots\\ 0 \end{pmatrix} = I_{h\times h}\begin{pmatrix} 0\\ \vdots\\ 1\\ \vdots\\ 0 \end{pmatrix} = \begin{pmatrix} \vdots\\ \delta_{i\kappa}\\ \vdots\\ \end{pmatrix}_{h\times 1}$$

for each i, we see that

$$\Phi(s)\vec{I}_{\psi_i}(1-s)=\vec{I}_{\psi_i}(s).$$

Thus we have meromorphic continuation and functional equations for $\vec{I}_{\psi}(s)$. To obtain the claims about the poles, we combine (3) and (14).

Thus the proof is complete.

REFERENCES

- 1. J. Hoffstein, Theta functions on the n-fold metaplectic cover of GL(2), Invent. Math. 107 (1992), 61-86.
- 2. T. Kubota, Elementary theory of Eisenstein series, Kodansha and John Wiley, Tokyo-New York, 1973.
- 3. D. Lieman, The GL(3) Rankin-Selberg convolution for functions not of rapid decay, Duke Math. J. 69 (1993), 219–242.
- 4. S. J. Patterson, A cubic analogue of the theta series, J. Reine Angew. Math. 296 (1977), 125-161.
- R. Rankin, Contributions to the theory of Ramanujan's function τ (n) and similar arithmetical functions, I and II, Proc. Cambridge Philos. Soc. 35 (1939), 351–356, 357–372.
- 6. A. Selberg, Bemerkungen uber eine Dirichletsche Reihe die mit der Theorie der Modulformer nahe verbunden ist, Arch Math. Natarvid. 43 (1940), 47–50.
- D. Zagier, The Rankin-Selberg method for automorphic functions which are not of rapid decay, J. Fac. Sci. Univ Tokyo, Sect. IA Math. 28 (1981), 415–437.

Department of Mathematics, Florida International University, Miami, FL 33199. duttagus@fiu.edu